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SECTION 1

Question

1

Omarks 1 mark 2marks Smarks

No Two relevant sources are Two relevan Sources are  Two relevant sources are

creditworthy  identiied clearly identfied Clearl identfied

(=0 The usefuiness of one of ~ The usefulness of both is
the sources is explained and a
commented on. comparison made.

Additional Guidance

Aclearly identified source is referred to by title and author o for websites at least the name of
the web site shouid be quoted.

A clear comment on only one of the sources may be suffcient o gain 2 marks f the answer
implies a comment on the other source

If candidates have taken part in peer discussion as part of their research, simply stating this is
ot sufficient to qualfy for quoting a source. Similarly reference to their own notes o exercise
‘book alone is insuffcient.

SECTION 1

Omarks 1 mark 2marks Smarks

No Asitable control Asuitable control Asutable control
creditworthy  variable s stated variable s stated variable s stated.
[=spones) Only one value to be The limits of the range to

Question investigated in the be investigated in the
prelminary experimentis  preliminry experiment
2 suggested are appropriate

A statement concerning
how the results couid be
used to determine the
best value has been
made

Additional Guidance

Sutable control variables are likely to be eg the length of time for which the water is heated.
Do not accept suggestions such as ‘always use the same thermometer'.

The dependent variable will be the temperature rise after a specified time.

The preliminary investigation is ikely to involve testing two ends of a range to see f there is
suffcient varation.
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SECTION 1

In this question candidates are required to produce extended writen materal i Engiish, and wil
e assessed on the qualty o theirwritten communication as wel as the standard of the
scentiic response.

‘Candidates wil be required to use good English, orgarise information clearly and use specilist
Vocabulary where appropriate.

Read through the whole of the candidate's answer and use the marking guidelines below to
arrive at a best ft mark as candidates may meet some creria but not others witin a mark

band,
Omarks  1,20r3marks 4,50r6 marks. 7,80r8 marks,

No Most of the necessary Al of the major items of Al of the majr tems of
creditworthy  equipment isstated  necessary equipment are  equipment are sted
response listod

The method described s The method described
weak but shows some  The method described  wil enable vald resuts

understanding of e willenable vali results 1o be collected
sequence ofan tobe colected
FniEd] The measurements to.

The measurements to  be made are siated and
The messurementsto  be made are stated and  control variables are

Sormade el oo v corrol | oy erats i
Varaiio s dontiod ol of how ey wi b
oo o cantored
Ao sigifant hazards
Question i Sorwoprato eZatd vy Ganie,togeinor. Ay sifcant hazards
s jgentfied. ‘with a comesponding are identified, together
3 CIEETs control measure but the  with an assessment of
Setostant i corrol
ssesmentand conto et s weak o sssooates v nd
= oo coaaponang corvel
‘The answer has measures
DO Ly ‘some structure and ‘The answer is ccherent
orgrise withamast e o R o e
no specialistterms and  ordaraloTs LS T e
rospecaistiemeand SIS Tomhes  araniee ogeal
o been attempted but not  sequence, containing
Thespeling, punctusion aeyscorectyand 3 range ol levnt
g e S0 el mgven  specai: toms tsed
e The speling, punctuation ™'
and grammars Trearaver shows
ressSraoafough  amost s Speing,
irersmay st bosome. punctuton and
oo Garmer

‘Aditional Guidance Typical hazards with assocated sk reduction might includ: very hot wate, igh rsk of scading
fbeaker knocked over, restict temperature e 0 40°C.

Itmay be possible o crecit a cleary labelled dagram for some of the marks
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SECTION 1

Question

Omarks  1mark 2marks 3 marks
No Allows you to check your  Enaloles you to compare  Enables you to compare.
creditworthy  resuts your resuits with those of  your results with those of
response others to ses iftnere are  others to se if tnere are
or any similrities or any similarties or
calculate a more differences. differences.
acourate mean

With more datayouare  With more data you are.
able to calculate a more  able to calcuiate a more

acouratemeanand  accurate mean and
‘minimize the effect of ‘minimize tne effect of
random errors random erors
Enables reproducibility to
be confirmed
Table for the results
0 marks 1 mark 2 marks
Question  Notable oratable with A table with incomplete Correct headings and units
incomplete headings or units  headings or units for the present for all measured
5 for the measured variables measured variables variables
Fewer than half of the required At least half of the required
elements are prasent elements shouid be present

Additional Guidance

The table should be able to accommodate all of the variables tht the candidate is going to
measure o record during the investigation. There is no need for the candidate to include
columns for repeats, means or derived values.
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